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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- Yet life is not literature, nor is literature life; the two are --—------—- .

1) consistent 2) distinct 3) temporary 4) adequate
2-The hurricane would not have had such a/an ---e-mm--- effect on the coastal village had
the storm surge not arrived during an abnormally high tide.
1) devastating 2) ultimate 3) calculating 4) obligatory
3- Federica expressed doubt about the existence of true altruism, claiming that no one
makes a -----=---- without expecting to receive something in return in one form or another.
1) facility 2) hypothesis 3) premise 4) sacrifice
4- As a supporter of the value of free trade, Bennett was often called upon to give
speeches around the world ---------- the virtues of unencumbered commerce.
1) monitoring 2) purchasing 3) praising 4) exchanging

5- The efforts to revive the local economy after the departure of the town’s largest
employer were eased by the construction of a new arts center that would infuse the

community with much-needed ---------- .
1) revenue 2) scheme 3) schedule 4) survival
6-Eagerly advocating rehabilitation , Gena has always believed that individuals who have
been  imprisoned deserve the opportunity to return to society as ---------- citizens.
1) voluntary 2) crucial 3) productive 4) internal
7-With --emeeeeen approval, the parliament accepted the new law that would prohibit
companies from discriminating according to race in their hiring practices.
1) intrinsic 2) fanatical 3) sporadic 4) unanimous
8- Many medical researchers now believe that there is such a thing as being too clean.
The “hygiene hypothesis” suggests that excessively sanitary conditions can -------- - a
person’s resistance to disease.
1) initiate 2) diminish 3) abandon 4) undertake
9- One popular misconception is that these subsidies produce lower food prices, and so
are a --------—- to consumers. This analysis ignores the fact that consumers are also
paying for these subsidies through taxes.
1) transfer 2) device 3) boon 4) status
10-As one of the most popular writers of the 20th century, Jack Kerouac authored several
books that ------- to a wide variety of readers.
1) appeal 2) attribute 3) appear 4) devote

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The climate is expected to increasingly shape and (11) =---=--m-- by cities. In a vicious circle,
climate change will increase energy demand for air conditioning in cities, (12) ---------- will
add to greenhouse gas emissions. It could also raise temperatures in urban areas (13) ----------
2-6 °C. “Heat, pollution, smog and ground-level ozone [from cities] affect surrounding areas,

reducing agricultural yields, increasing health risks and (14) --=memme- tornadoes and
thunderstorms. (15) ---------- on urban water supplies are expected to be dramatic,” the report
says. Cities like New Delhi, in the drier areas, will be hit particularly hard.

11- 1) be shaped 2) shaped 3) is shaped 4) be shaping

12- 1) where they 2) they 3) that 4) which

13- 1) high up 2) by 3) for 4y at

14- 1) to produce 2) and produce 3) and producing 4) which produces

15- 1) The impacts of climate change 2) The climate change impact

3) The impact changes in climate 4) The change in climate impact
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1),
(2), (3), or (4). Then mark it on your answer sheet.

Passage 1

An altered building may look the same on the exterior, but its interior may be completely
different spatially. The interior architect must therefore be sensitive not only to the place of the
building in its physical and socio-political context, but to the temporal requirements of
changing owners and users. In this sense, if the building has “good bones” the original
architectural idea is therefore the first iteration of an internal spatial hierarchy for that structure,
after which others are bound to follow.

Interiors of certain structures remain unaltered over time due to historic preservation,
unchanged use, or financial limitations. Nevertheless, most buildings have only three possible
long-range internal futures: First, designated significantly important to maintain visually
unchanged, only accommodating unseen modern utilities, access, and structural stabilization,
and restoration needs. Second, demolished to make way for a new building on the same site, or
abandoned, becoming ruins. Finally, redesigned and altered to accommodate new uses.

There are many different degrees of alteration—a minor one to enable the building to
conform to new legal codes is likely to prolong the first (or indeed later) iteration of interior
space, but a major alteration, such as the retention of only the facade, is to all intents and
purposes a new building. All possibilities within and between the two extremes are the domain
of the interior architect.

16- According to the passage, an altered building may look ---------- .
1) the same in the interior
2) different on the exterior
3) the same in the interior and on the exterior
4) the same on the exterior but different in the interior
17- By “good bones” (paragraph 1), the author means ---------- .
1) structural stability 2) architectural concept
3) socio-political context 4) temporal requirements
18- Which of the following is NOT stated in the passage as a reason to alter the interiors
of certain structures?

1) Unchanged use 2) Preservation
3) Structural system 4) Budget constraints
19- All of the following are mentioned as possible long-range internal futures EXCEPT
accommodating ---------- .
1) demolished furniture 2) new uses
3) unseen utilities 4) a new building

20- According to the passage, a major alteration is to be made to ---------- .
1) renovate the facade
2) relocate the building
3) retain the interior spaces
4) preserve the envelope of the building
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Passage 2

The shapes which are adopted for structural elements are affected, to a large extent, by the
nature of the materials from which they are made. The physical properties of materials
determine the types of internal force which they can carry and, therefore, the types of element
for which they are suitable. Unreinforced masonry, for example, may only be used in situations
where compressive stress is present. Reinforced concrete performs well when loaded in
compression or bending, but not particularly well in axial tension.

The processes by which materials are manufactured and then fashioned into structural
elements also play a role in determining the shapes of elements for which they are suitable.
These aspects of the influence of material properties on structural geometry are now discussed
in relation to the four principal structural materials of masonry, timber, steel and reinforced
concrete.

Masonry is a composite material in which individual stones, bricks or blocks are beddead in
mortar to form columns, walls, arches or vaults. The range of different types of masonry is
large due to the variety of types of constituent. Bricks may be of fired clay, baked earth,
concrete, or a range of similar materials, and blocks, which are simply very large bricks, can be
similarly composed. Stone too is not one but a very wide range of materials, from the relatively
soft sedimentary rocks such as limestone to the very hard granites and other igneous rocks.
These *solid’ units can be used in conjunction with a variety of different mortars to produce a
range of masonry types. All have certain properties in common and therefore produce similar
types of structural element. Other materials such as dried mud, pisé or even unreinforced
concrete have similar properties and can be used to make similar types of element.

21- The passage is mainly concerned with --------—e-—-- .
1) the extent to which the intended structural shapes are actualized
2) the impact of material properties on structural geometry
3) the different shapes that structural elements take
4) the types of internal force a structure can carry

22- The word “they” in line 4 refers to ------==-—--- .
1) materials 2) the types of internal force
3) the types of element 4) the physical properties of materials

23- Which of the following best represents the organization of the information in
paragraph 1?
1) A general statement is made and then exemplified.
2) A rule is specified and a counter-example is presented.
3) A number of details are brought in and a conclusion is made.
4) A phenomenon is stated and then followed by the analysis of the reasons for it.

24- Which of the following is NOT one of the major sorts of structural materials the text
refers to?
1) Timber 2) Steel 3) Vault 4) Reinforced concrete

25- According to the passage, the mortar types with which masonry types can be used
1) range from limestone to the very hard granites
2) depend on the structural element
3) are anything but restricted
4) are not similar in number
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26- It can be understood from the passage that granites -----------—-- .

1) need to be processed as bricks are 2) are igneous rock
3) cannot be used along with mortars 4) are sedimentary rocks
Passage 3

Through education and advocacy, the National Trust is revitalizing communities and is
challenging citizens to create sensible plans for the future. It has six regional offices, twenty
historic sites, and works with thousands of local community groups nationwide. Most of the
National Trust’s funding comes from membership dues, corporation and foundation grants,
endowment income, and merchandise sales. About 22 percent comes from a matching grant
awarded by the government. The National Trust believes that the employment outlook in the
historic preservation field has grown dramatically over the past decade. Its concerns have
enlarged from a relatively small number of historic sites, museums, and buildings to historic
neighborhoods, commercial districts, and rural landscapes.

The growing sophistication of the field is reflected in the greater diversity of professionals
who contribute to preservation work. Historians, curators, and other museum professionals
have joined forces with architects, lawyers, designers, realtors, planners, developers, mortgage
lenders, and others. Once found working only in museums, libraries, and historical societies,
preservationists are employed in real estate firms that specialize in historical properties and in
financial institutions that invest in older neighborhoods.

27- The word “revitalizing” in line 1 is closest in meaning to -------------- .
1) relieving 2) recapturing 3) resolving 4) rejuvenating

28- According to the National Trust, over the last ten years job opportunities in the
historic preservation field has been -------------- .
1) bleak 2) unpredictable 3) on the rise 4) constant

29- The National Trust obtains most of its funding from -------------- .
1) membership fees
2) running historic sites, museums, €tc
3) sales and business companies
4) sources other than the government

30- The word “Its” in line 7 refers to -------=------ .
1) the historic preservation field 2) the National Trust
3) the past decade 4) the government
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1392 Juw 2yl (sl HIS (4 g ) DY s IS o0 liia http://92.242.195.235/KeyArshad/NOET/Questionskey.aspx

1392 Jlw i, csowlivin,S ugo;l WVlgw 3,dS sasliwe
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Jlguw Quo Jlguw Quo Jlguw Quo Jlguw uo Jlguw Quo Jlguw Quo
1 2 31 1 61 4 91 3 121 4 151 2
2 1 32 4 62 2 92 4 122 3 152 4
3 4 33 1 63 2 93 2 123 3 153 2
4 3 34 2 64 3 94 2 124 4 154 3
5 1 35 3 65 1 95 4 125 1 155 1
6 3 36 4 66 1 96 2 126 4 156 1
7 4 37 2 67 4 97 4 127 3 157 4
8 2 38 3 68 1 98 2 128 3 158 4
9 3 39 4 69 3 99 4 129 4 159 3
10 1 40 1 70 3 100 4 130 1 160 2
11 1 41 1 71 4 101 3 131 3 161 1
12 4 42 3 72 2 102 2 132 4 162 4
13 2 43 3 73 2 103 3 133 3 163 4
14 3 44 1 74 3 104 1 134 1 164 4
15 1 45 4 75 3 105 3 135 1 165 3
16 4 46 3 76 2 106 1 136 3 166 2
17 2 47 3 77 1 107 1 137 1 167 3
18 3 48 2 78 3 108 2 138 4 168 1
19 1 49 1 79 3 109 1 139 4 169 1
20 1 50 1 80 1 110 1 140 3 170 4
21 2 51 3 81 1 111 1 141 1
22 1 52 3 82 3 112 2 142 1
23 1 53 2 83 1 113 3 143 3
24 3 54 1 84 3 114 1 144 2
25 3 55 2 85 2 115 1 145 4
26 2 56 1 86 1 116 3 146 2
27 4 57 4 87 2 117 2 147 4
28 3 58 4 88 3 118 3 148 1
29 4 59 2 89 2 119 2 149 4
30 1 60 3 90 3 120 4 150 3
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